

OFFICE OF THE CE / DIRECTOR (CONTRACT MANAGEMENT) MUNICIPAL SERVICES DEPARTMENT

Room No.19 2nd Floor, KMC Head Office M.A. Jinnah Road Karachi Phone No.021-99215795

No. Dir/(CM)/MS/KMC/ 4/5 /17

Dated: 28-08-2012

Director (CB),

Sindh Public Procurement Regulatory Authority,

Government of Sindh,

Karachi.

Subject: -

NIT NO.Dir/CM/MS/KMC/223/17 DATED 31-05-2017.

REPAIR AND MAINTENANCE OF EXISTING STREET LIGHTS AT INTER PROVINCIAL CITY BUS TERMINAL YOUSUF GOTH, BALDIA TOWN, KARACHI,

MS, KMC.

Tender Reference No.KMC/MS/CM/21/16-17.

Enclosed please find herewith the Bid Evaluation Report, duly filled in for uploading at

SPPRA's Website.

CE / Director (CM) MS, KMC

C.C to:-

- 1. The Sr. Director (MS) KMC.
- 2. Office File.

NO: 968 DIAMY DIAMY NO. 968 SALS

Bid Evaluation Report

1. Name of Procuring Agency: Municipal Services, Karachi Metropolitan Corporation.

2. Tender Reference No: KMC/MS/CM/21/16-17

3. Tender Description/Name of work/item:

REPAIR AND MAINTENANCE OF EXISTING STREET LIGHTS AT INTER PROVINCIAL CITY BUS TERMINAL YOUSUF GOTH, BALDIA TOWN, KARACHI, MS, KMC

4. Method of Procurement: Single Stage One Envelope

5. Tender Published: Through Web Site, SPPRA Sr.#33665

Print & Electronic Media (SPPRA ID No. & News papers names with dates)

6. Total Bid documents Sold; (03) Three Nos. (in addition to availability of Bidding Documents on SPPRA Website)

7. Total Bids Received: (03) Three Nos.

8. Technical Bid Opening date: (if applicable) Not Applicable (Provide details in separate form)

9. No. of Bid technically qualified (if applicable): (02) Two Nos.

10. Bid(s) Rejected: 01 (One No.)

11. Financial Bid Opening date: 03-07-2017

12. Bid Evaluation Report:

Sr. #	Name of Firm or Bidder	Cost offered by the Bidder& Evaluated by the Evaluation Committee	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks	
1	2	3	4	5	6		
L	M/s Sanco Technologies	Rs.9,87,625/-	1st Lowest	Offer Rate Basis	Qualified as per Eligibility Criteria	Responsive Recommended for Award of Work	
2	M/s AstroTech International	Rs.10,39,315/-	2 nd Lowest	Offer Rate Basis	Not Qualified as per Eligibility Criteria	Non Responsive	
3.	M/s Waheed Brother	Rs.26,89,620-	3 rd Lowest	Offer Rate Basis	Qualified as per Eligibility Criteria	Responsive	

MUSHEER-AHMED
Project Manager (CBT) MS, KMC

Member

SYED NAFEES AGHA Executive Engineer, LDA Member SYED MUHAMMAD SHAKAIB CE / Director (CM) Chairman, Municipal Services, KMC



OFFICE OF THE DIRECTOR (CONTRACT MANAGEMENT) MUNICIPAL SERVICES DEPARTMENT

Room No.19, 2nd Floor, KMC Head Office M.A. Jinnah Road Karachi Phone No.021-99215795

ATTENDANCE SHEET

Subject: - REPAIR AND MAINTENANCE OF EXISTING STREET LIGHTS AT INTER PROVINCIAL CITY BUS TERMINAL YOUSUF GOTH, BALDIA TOWN, KARACHI, MS, KMC

Venue:

In the Committee Room of the Director (CM)

Dated:

03-07-2017

(Municipal Services), KMC.

Time:

2:30 PM

SN	NAME OF FIRM	DESIGNATION / CONTECT NO.	INITIAL
1-	M/S Waseer Braker	SiTE Superivana	Munic
2-	Mls Sones Technology	Accountant	The
3-	Ms. ASTVO Trah	Proprism	sh) je
		>	
	July .	3/2/12	
	Aeut Cen) Mg	



OFFICE OF THE DIRECTOR (CONTRACT MANAGEMENT) MUNICIPAL SERVICES DEPARTMENT

Room No.19, 2nd Floor, KMC Head Office M.A. Jinnah Road Karachi Phone No.021-99215795

ATTENDANCE SHEET

Subject: - REPAIR AND MAINTENANCE OF EXISTING STREET LIGHTS AT INTER PROVINCIAL CITY BUS TERMINAL YOU'SUF GOTH,

BALDIA TOWN, KARACHI, MS, KMC

Venue:

In the Committee Room of the Director (CM)

Dated:

03-07-2017

(Municipal Services), KMC.

Time:

2:30 PM

	(Municipal Services), KMC.	7	Fime: 2:30 PM
SN	NAME OF OFFICER	DESIGNATION / CONTECT NO.	INITIAL
t.	S.M. Shekais	CEPPING Con	1
2)	Mushour Ahmed S Noteen Noone	John Yousub	H-
3	S Noteen Nother	EE LDA	Edon
=1			
		>	
		カオン	
	Acente	13/7/17 11) M	
			14 (4)



OFFICE OF THE CE / DIRECTOR (CONTRACT MANAGEMENT) MUNICIPAL SERVICES DEPARTMENT

Room No.18, 2nd Floor, KMC Head Office M.A. Jinnah Road Karachi Phone No.021-99215795

N.I.T No:

NIT NO. Dir/CM/MS/KMC/223/2017 DATED 31-05-2017

Tender Reference No:

KMC/MS/CM/21/16-17

Method of Procurement:

SINGLE STAGE ONE ENVELOPE

MINUTES OF BID OPENING MEETING

A meeting of the procurement committee of this department was held on 03-07-2017 for opening the bids received in respect of subject NIT till the deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders (Attendance sheet is enclosed)

The following bidders submitted their bids till the deadline of submission: -

- 1. M/s Sanco Technologies
- 2. M/s Waheed Brothers
- 3. M/s AstroTech International

The bids were opened at 2:30 P.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee. All the member of Procurement Committee signed each and every page of financial proposal / bid. The bids do not contain any over-writing or cutting. Following is the details of bid announced:

S.N	Name of Firm or Bidder	Offered price	Amount of Bid Security	Pay order No. / Date		
0	1	2	3	4		
1.	M/s Sanco Technologies	Rs.9,75,025/-	Rs.20,000/-	P.O.No.17150693 dated 29-06-2017 Rs.14,000/- from Habib Bank Limited Abdulllah Haroon Road Branch P.O.Np.2517530 dated 16-05-2017 Rs.3,000/- from MCB, Bahadrabad Branch. P.O No.10772665 dated 04- 05-2017 Rs.3,000/- from Habib Metropolitan Bank Industrial Area Korangi Branch		
2.	M/s Waheed Brother	Rs.26,89,620-	Rs.53,793/-	P.O.No.17944399 dated 23-06-2017 from Habib Bank Limted Shahrah-e- Faisal Branch		
3	M/s AstroTech International	Rs.10,39,315/-	Rs.30,000/-	P.O.No.00522086 dated 11-05-2017 from Sindh Bank, Shaheed-e-Millat Road Branch		

The committee shall examine all the bids as per Qualification / eligibility Criteria provided in the bidding documents, arithmetical checks and verify the documents and bid security submitted by the bidders.

The meeting ended with the vote of thanks to and from the chair.

SYED NAFEES AGHA Executive Engineer, LDA, Member MUSHEER AHMED
Project Manager (CBT) MS, KMC
Member

SYED MUHAMMAD SHAKAIB CE / Director (CM) / MS, KMC, Chairman

REPAIR AND MAINTENANCE OF EXISTING STREET LIGHTS AT INTER PROVINCIAL CITY BUS TERMINAL YOUSUF GOTH, BALDIA TOWN, KARACHI, MS, KMC DETAILED COMPARATIVE STATEMENT ITEM WISE

Sr.#			M/s San	co Technolo	gies	M/s Waheed Brothers		M/s AstroTech International	
	Description	Quantity	Unit	Rate	Amount	Rate	Amount	Rate	Amount
1	2	3	4	5	6	7	8	9	10
1	P/F Energy Saver 220 Volts Philips or Equivalent	235	Jobs	190	44,650	2,000	470,000	199	46,765
2	P/F Double Pole Circuit Breaker 10-16 Amp 200 / 220 Volts	50	Jobs	795	39,750	381	19,050	795	39,750
3	P/F 250 Watts SON Lamp at the Height up 50' Philips or Equivalent	40	Jobs	1495	59,800	2,540	101,600	1550	62,000
4	P/F 250 Watts Choke at the height of 50 feet. Philips or Equivalent	50	Jobs	2990	149,500	1,800	90,000	3400	170,000
5	P/F 250 Watts igniter 220 Volts at the Height of 50 feet Philips or Equivalent	50	Jobs	395	19,750	635	31,750	450	22,500
6	P/F 400 Watts at the Height of 50 feet Philips or Equivalent	50	Jobs	2295	114,750	3,300	165,000	2500	125,000
7	P/F 400 Watts choke at the 50 feet Height Philips or equivalent	50	Jobs	3490	174,500	3,000	150,000	3600	180,000
8	Painting pole of 50' long i/c cast of scraping, clipping and 2 coat test enamel paint	35	Jobs	1195	41,825	40,000	1,400,000	1240	43,400
9	P/F switch board sheet 6 Points piano type china made / imported	35	Nos	400	14,000	600	21,000	450	15,750
10	P/F C.T 440 Volts	20	Jobs	3000	60,000	478	9,560	3050	61,000
11	P/L PVC insulated wire 16 mm 4 Core and PVC sheeted 4 Core	180	M	1195	215,100	762	137,160	1210	217,800
12	P/L PVC insulated 7/.044 PVC sheeted 2 Core	270	М	200	54,000	350	94,500	205	55,350
		Total	Amount		987,625		2,689,620		1,039,315

Recommendations: -

Considering the Reasonability of Rates the Committee recommended M/s Sanco Technologies, quoted rates / bid to be awarded.

SYED NAFEES AGHA

Executive Engineer, LDA, Member MUSHEER AHMED

Project Manager (CBT) MS, KMC Member

SYED MCHAMMAD SHAKAIB CE / Director (CM) MS, KMC, Chairman



OFFICE OF THE C.E / DIRECTOR (CONTRACT MANAGEMENT) MUNICIPAL SERVICES DEPARTMENT

Room No.19, 2nd Floor, KMC Head Office M.A. Jinnah Road Karachi Phone No.021-99215795

TENDER FOR: -

REPAIR AND MAINTENANCE OF EXISTING STREET LIGHTS AT INTER PROVINCIAL CITY BUS TERMINAL YOUSUF GOTH, BALDIA TOWN, KARACHI, MS, KMC.

Date of Opening: - 03-07-2017,

Venue: -

Office of Director (CM) MS, KMC, situated at Room No.19, 2nd Floor, KMC Head Office M.A. Jinnah Road Karachi Phone No.021-99215795

Time 2:30 P.M

Date of procurement committee meeting on 04-07-2017.

TECHNICAL ELIGIBILITY CRITERIA

	Condition	M/s Sanco	Technologies	M/s Wahee	ed Brothers	M/s AstroTech International	
Sr. No.		Compliance	Non Compliance	Compliance	Non Compliance	Compliance	Non Compliance
	PART-A						
1.	Valid NTN Certificate	✓		1		✓	_
2.	Valid Professional Tax	1	_	✓	_	✓	
3.	Registration with SBR	✓	_	✓	_	✓	_
4.	Valid PEC in relevant field	✓	_	1	_	✓	1
	PART-B			A LEWIS AND A STATE OF THE PARTY OF THE PART			
1	Tender should be in properly sealed envelope.	✓	_	1	_	1	
11	Bid Security, as mentioned in the NIT & Bidding Documents, is furnished	✓		1	_	1	



H

1

	Condition	M/s Sanco	Technologies	M/s Wahee	d Brothers	M/s AstroTech International	
Sr. No.		Compliance	Non Compliance	Compliance	Non Compliance	Compliance	Non Compliance
III	All rates quoted including the total amount of the bid shall be in figures & words (both).	✓	-	✓	_	✓	_
IV	All Corrections / overwriting shall be clearly re-writing with initials & duly stamped by the bidder.	✓	_	1	_	✓	_
V	The bid shall be properly signed, named & stamped by the authorized person of the firm and authorization letter for signatory shall be enclosed with the tender by the authorized person, if other than the signatory of the firm.	✓	-	1	_	✓	-
VI	Minimum turn over 3 years with minimum amount of Rs.1.00 Million	✓	-	1	_	✓	_
VII	Experience period in relevant field 3 years	✓	_ 1	1	_	_	✓

Recommendation:-

The bids of M/s Sanco Technologies & M/s Waheed Brothers as per Minimum Qualification Criteria mentioned in the NIT and included in Tender documents, is "Responsive" and declared as "Accepted" for further Evaluation.

MUSHER AHMED Project Manager (CBT) MS, KMC

Member

SYED NAFEES AGHA Executive Engineer, LDA, Member

SYED MUHAMMAD SHAKAIB CE / Director (CM) / MS,

KMC, Chairman

1. M/s Sanco Technologies

2. 'M/s Waheed Brothers

3. M/s AstrioTech International

C.C. to: -

- 1. The Senior Director, Municipal Services, KMC.
- 2. Office file.